
Day 3: Kazakhstan Contest
42nd Petrozavodsk Programming Camp, Winter 2022, Thursday, February 3, 2022

Problem I. Box Packing
Input file: standard input
Output file: standard output
Time limit: 1 second
Memory limit: 256 mebibytes

An ordered pair of integers (x, y) is called a box. A sequence of boxes (c1, d1), (c2, d2), . . . , (cm, dm) is
called a chain if the following inequalities hold:

c1 ≤ c2 ≤ . . . ≤ cm, d1 ≤ d2 ≤ . . . ≤ dm.

You are given n boxes: (a1, b1), (a2, b2), . . . , (an, bn). Find the maximum number of boxes that you can
select from them and split into no more than k chains. You can reorder the boxes to form chains.

Input
The first line contains two integers, n and k (1 ≤ n ≤ 105, 1 ≤ k ≤ 100).

The i-th of the following n lines contains two integers, ai and bi (1 ≤ ai, bi ≤ 109).

Output
Print one integer: the answer.

Examples
standard input standard output

4 1
2 2
4 2
3 4
5 5

3

4 2
2 2
4 2
3 4
5 5

4
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